INSTRUCTIONS REV# 1
PW1425-PW1430

/—\
PEY
BAGS
/N
[0)
PEY
BAES
o/ o[ o S| o Mo
[0)
|
ol o |l o |[@| o (o E|of
N 1l [ © 1M
|
|
IEOIOIL o iIJ
INGROUND MOUNT SURFACE MOUNT




INSTRUCTIONS
PW1425-PW1430

7

_ feo &

Pet Bags Dispenser

REQUIRED TOOLS
(NOT INCLUDED) 1

1-#2 SQUARE BIT
1 -1/4" DRILL BIT
1-1/8" DRILL BIT

1

1-7/16" WRENCH Inground Post QR Surface Mount

Post

Receptacle

HARDWARE &

TOOLS REQUIRED
FOR ASSEMBLY

2/6




INSTRUCTIONS
PW1425-PW1430

#10 x 2.5" Screw

2
1/4"x 1.5" Lag Screw

2
1/4" Flat Washer

SURFACE MOUNT HARDWARE

2.

2
1/4"x 1.5" Lag Screw

2
1/4" Float Washer

Surface Mount Base

HARDWARE & 3 / 6

TOOLS REQUIRED
FOR ASSEMBLY




~

INSTRUCTIONS

PW1425-PW1430 Surface Mount
Insert the post (C) info the surface mount bose(L)
Inground Mount e Secure (Th)e pgs’r Tok’:he ?o)se erEi QO} /4" x 1.5" lag
screws (J)and washers (K) provide
Dig a hole 12 inches in diameter to a depth of * Place the post upright in desired location
18 inches _  Square the post assembly to the ground
. :—nser’g me mgrsuqﬂ moun’r (B)dpos’r into the hole e Aftach the surfo%e rcrjwoun’r k(aose to l’rhde %r)ound
evel the post wi e groun using approiate hardware (not include
Pour concrete into the hole and allow to set 9 APP
N C

o e

v/v /9
v
v v v
P vy vv —r
v v v|
AA vV (@)
v v V|
v vy vv (@]
v v v| .
v vy vv 0
v v V|
v vy vv —
v v v v| =
Vv
vV VVvVVY A




INSTRUCTIONS
PW1425-PW1430

MOUNT THE DISPENSER

* Slide the pet bags dispenser (A) onto the post
 Installthe #10 x 2.5" screw (F) to secure the dispenser to the post
(Only 1 is needed but 2 are supplied in case of stripping)

BET]

a
0

L

@:\W : /@

/

NOTE: LID REMOVED TO SHOW DETAIL

5/6




INSTRUCTIONS Mount the Receptacle

Locate the slat opposite of the shortest slat on the receptacle
Mark the slat 1.5" below the top ring

INGROUND- Mark the slat 1.5" above the bottom ring

SURFACE MOUNT- Mark the slat 6" above the bottom ring

Drill 1/4" through holes at your marks on the slat

Place the receptacle on the ground in front of the post with the
holes you just drilled against the post

Mark both hole locations on the post with a marker

Drill a 1/8" pilot hole at each mark 1" to 2" deep

Install both lag screws (G) through the slat as shown per Figure 1
Use a 7/16 wrench to fighten

PW1425-PW1430

Figure 1
i
&
iRl | &
)] \ﬁz j ] 9 . 04

6/6




NOTE: ALL MATERIAL IS RECYCLED PLASTIC LUMBER UNLESS NOTED
PW1425-PW1430 ALL DIMENSIONS SHOWN IN INCHES

8.63

]
)

8.96

22.23

51.00 SURFACE MOUNT
69.00 INGROUND MOUNT
20.00

18.73

}

3.50 3.50

}




	PAGE 1
	Drawing View111
	Drawing View112

	PAGE 2
	Drawing View88
	Drawing View92
	Drawing View93
	Drawing View95
	Drawing View96
	Drawing View97
	Drawing View118
	Drawing View148

	PAGE 2(2)
	Drawing View120
	Drawing View121
	Drawing View122
	Drawing View123
	Drawing View129
	Drawing View131

	PAGE 3
	Drawing View49
	Drawing View51
	Drawing View52
	Drawing View100
	Drawing View101
	Detail View  (1 : 8)

	PAGE 4
	Drawing View79
	Drawing View103
	Detail View Q (1 : 5)
	Drawing View149
	Drawing View150
	Detail View U (1 : 6)

	PAGE 5
	Drawing View134
	Drawing View142
	Detail View  (1 : 5)

	PAGE 1(2)
	Drawing View144
	Drawing View145
	Drawing View146
	Drawing View147


